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Knowledge \¥
1. Identify the type of View shown in each picture. /6
. (a) (c) ‘| (e) :
Credit Card Number { U{ ; _f_ TUC‘{' {”EIUI! ‘lmu [ﬂug,z.wcw Q%’ , qu \/IUW
(b) : (d) (f
PIZZA MARGHERITA Text \/WW _ Save B M'h[o vl i[r \?'@’J page N }QM}
2. Outline the LinearLayouts needed around 3. Fill in the hex codes foﬁ‘each coal'our. (5 I‘Earks) /9
the views t -enclﬁse._(&ma.tk_ﬂ_‘\ Red £F 00 00
Pizza Choices | Yellow FFE FF 00
Canadian ) ||| Green 00 F‘F 00
$12.99
8 pleces \ Cyan o0 Ff F F‘
| Blue 00 00 FF
Magenta FF 00 FF
eluxe \\ || Black O() O O O 0
$14.99
12 pleces/'l/ Ill White Ff- F.)C._ F‘F
2
/4

4, Fill in this code:

Great work

android:id="@+id/masg"

change to: Try again.

TextView m .S]%
.setText ("

{TextView} flndVlewById{R id.
’I?L/ m(;}l LIPN ")

ﬂ/_\,S? b

Cost

android:id="@+id/cogt" int ¢ =

EditText Cﬂ& ! =

(EditText) findViewById(R.id. §d$+ ) ;

Integer.parselnt(_( ngl_' .getText () .toString(}) ;
{0 i—TL .setText {"");




Communication 3%’

5. Select true or false for each statement.

/5
T @ a) In Android, the XML file can contain ifs, loops, arrays and findViewByld code.
F b) Two mandatory attributes for Views are layout width and layout_height.
T () ¢) AViewGroup that positions View relative to each other or the edge of the screen is called a
GridLayout.
F d) DP stands for density independent pixels.
F e) AView typethatalways needsanliDisan EditText.
6. Circle the three valid Android image names. /2
@‘?aj plZzZa pissa Pizza @ 3pizza @
7. Circle the five valid onClick values. /2
B 7 piss (259 piesa iz
8. Using the code, fill in the dimensions of the button. /4
=TextView <"
android:text="Pizza" 725 “io ’?_gl e
android:layout width="wrap content" 4 L
android:layout height="wrap content" 7/{, N I
android:textSize="50sp" 00 B | }DD
android:padding="100dp" 10 - ¥ > 4 m
andro:Ld:1ayout_marg:.n="25dp"/> SQ] m SD [
100.] '
25.]
9. Fill in the appropriate term that matches the description in the front column. /6
l 01 (a) An attribute needed if the view will be changed. I
0 AC ’ ! C/JL {b) An attribute needed if the view will be clicked.
\/" t u\] (c) An item that is added to an Android screen. A widget in Android.
GC'HT)' b UC{‘Q . . (d) A property inside a tag that can be altered. Used for formatting,
Y (A ot 2&&“‘2 ﬁj@ﬁername of a View Group.
. { P
\/ VoW \/i ', (f) The parameter of a method associated with an Android button.
10. Define inflation and describe why it is useful in Android development. /3




*

e else

’

Application G

11. Using the pictures shown, fill in the code for the Pizza Toppings game. /6

epu.blic class MainActivity extends AppCompatActivity {

int pizzal) [] = {{ ;
{
{

W |~
LRk

3.
%
1.

bI-L»)

}
b
1%
int row = G

3
int ceol = i—l:;

ImageView pics|] = new ImageView{row * col];

protected void onCreate{(Bundle savedInstanceState)
super .onCreate {savedIinstanceState) ;
setContentView(R.layout.activity main);
GridLayout g = (GridLayout) findvViewById{(R.id.grid};

int m = 0; public void setpic{ImageView i, int pos) |
. . T int x = pos / col;
for (int i = 0; i < fW ; i++) { int y = pos % col;
for (imt j = 0; j < Lﬂl_; j+e) | int picnum = p;b?ﬁ (x] [yl
pics(m] = new ImageView(this); if (picnum ==
setpic(pics[m], m}; i.setImageResource(R drawable. {:LMM
pics[m] .setId(m); else if (picnum == _| )
g.addView(pies[m}) ; i.setImageResource (R.drawable. '{‘Dﬂ’{_g RE
) Lalh else if (picnum == 7~ )
i.setImageResource (R.drawable. M l'. };

} else if (picnum == 5 ) |:
9 i.setImageResource (R.drawable. ['?f}li}; _

else
i.setImageResource (R.drawable. Eﬂfr!-f_ b

12. The Pizza Toppings game (from question 11) will need a redraw method. ]
Fill in the blanks. /5

public void redraw() {

int m=6; . . b
for (M{'l"o,‘QmV‘),“\"\‘ ............... ) { é
for (...L(\Tl(.-..d":o' <(r{-)’ g "('+

YRR Sl J ................... ) { 0 1 >
if (pizza[...)...][..]... ] == ) cheese tomato mush basil pepper
pics[m]. setImageResource(R drawable. fﬂ{«of if— ..... );

else if (pizza[.. ][...J...] == l ..... )
pics[m].setImageResource(R.dr'awable. .'}'.0 MA/’{‘O ....... );

else if (pizza[...l...][..J ..... }) Iﬂ
pics[m]. setImageResource(R drawable. Pq’u-"‘-i’ ........... Y;

else if (pizzaf...!...1[...]... ] == :)) . E/
pics[m].setImageResource(R.drawable, bw Aainnn, );

pics[m].setImageResource(R.drawable. /’Jf ............ Vi



13. Fill in the blanks to create the below app. Also fill in the java for the onClick:

<?xml version="1.0" enccding="utf-8"7>
<LinearLayout
xmlna:android="http://schemas.android. com/apk/res/android"
android:layout width="match parent"
android:layout height="match parent"
android:o ientation="vertical":>

1
PizzalOrders <_T}K+ WAy
android:layout_width=" V\fﬂ«,{} ; .,
Pizza android:layout_height=" Wl o ff "
android:text="_ [} LA _ "
Enter the size: androli_d: textSize="50dp" /=
« TextVuan
Size (s/m/l/xl) android:layocut_width="wrap_ content®
android:layout _height="wrap_cont ent"'
android:text=" é,.-.-f-{{' ‘fL\b Sy e . L]

android:textSize="30dp" />

r
<& H_'- X +
The cost is $0.00 android: 1ayout_width="match_parent"
android:layout height="wrap_content"

android:hint="8ize {s/m/1l/x1)"
android:textSize="30dp"
android:id="@+id/input"/>

< Butlgn
android:layout width="wrap content"
android:layout_height="wrap content"

s android:text="__ [J f{/fr.l’ 7 —

PizzaQrdecs android:onClick=" m_l u

and1roid:‘textSize="20dp"/>
H T et :
Pizza TextViav

android:layout width="wrap content®
android:layout height="wrap content"

Enter the size: android:textSize="30d4p"
android:id="@+id/output” —-——1|
android:text="The cost is $__|O. O_J_" /=

<f_ Liat oy E.ﬁ_uﬂa:f‘ > —

public class MainActivity extends AppCompatActivity {

. protacted veid onCresce Bundle savedIngranceState) |
The cost is $15.99 super .onCreace (gavedInstanceStace!
sebfententYiew R.layout.activity main':
1

! : f
public void calcCost (_V £ w Vsl )

/14

— ——

—

E,j[-l! Eexf‘_ input = (EditText) findviewById(R.id. " QW{’ ¥:i

Textview output = ( TexdVJtay) findviewsyId (R.id. QT )
e SRS Texd Vit yid( u_m_}bu‘f‘ ;

String size = 1 A i} w;f‘ .getText () .toString() ;

ifim. .equalsIgnoreCase (" "))
Size Cost =1 _J;},.mffmi_ ‘ Hj_’ft){___("me cost is §_ j{,ﬂff{-? "y
Sors 10.99 else if(_ML__.equalsIgnolreCase("_Wi"))
Morm |12.99 _puntat] el RN (vme iis s 1299 .
else if{_giJp .equalgIgnoreCase("” "))
e 11793 oot St Tex T omme ont 10 51599
other Error else if(_$)2¢ -equalsignorecase(* XLr™)

alse

}

¢

wntaut . S.-!.'f [€X1” ("The cost is $_,'{_7'?£?_“?: 0
it .—f" 4 1 Sﬂf 71’46‘]’ (" {‘r“ ]/ n
A “fl_’ld__ Yy ]
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14.Fill in the code for this view. The width of the screen is shown. Each dot square is 10 dp. /5

e -y v W T ey YT T 8 e <Button

g E
............. . L T T android:text=" ,G-J'.,_{; 1 | n

I P —

At L e a ¥ o .. I P PP, s android:layout_width= " wrﬂl_fj G

-----------

9O ES 1 e android: textSize=" ":00)‘#0 .

B i Rk e P U S S P

android:background="#CcCcccc”

........................

bt android:padding=* [{/ of "

android:layout margin=" () 911 ) »f=

15. Circle and correct five errors in this code.

/5
<?yml version="1.0" encoding="utf-8"?-
<ﬁ_n\§;}. xmlns:android="http://schemas.android.com/apk/res/android®
L«'Mﬁw -751?&{:01& layout_width="match parent”
android;layout_height="match parent"
android:orientations "é\;@wri zontal? s

<Tex@_}

android: layout_width="wrap centent®

android: lay?uﬁxeight= "wrap content '@’

android: te t_§!’ 30sp*"

android:id="@+id/title"

android:text="Yummy Pizza®

android: textColor=“@' #poooo o
@ android:layout_margin="20dp"

7

«/LinearLayouts»

16. Several test cases were run on this app and the results of each test are shown in the table below.
What is the code in the onClick method named enter? (The editText’s id is input; the textView's is out put)

/8

0

i 1 | 7L-;-w(vlt'c/ :ipld]'n.,__ o 2 Qi il

Enter 2R SUCFSE .i-:,?m*-’ (Bt Text Lol B L K 1d . gt )
2 TextView f_‘}:”;ép{f -(PEE,:J\/IM,J ij o Vs % fﬁ;ﬁim’f;iﬁ i

int ¥] =Inte LR 7L _/r) I v 4, Cf
¥l = ger.parseInt(__LAﬂ:_g _5_,_1‘ exr () .12 &"_flgf (1

Test
0 10 | Case A . 5

¢ | 2 6 int result = nNx v + 1 ;

I 0| -10 90

ool 4 20 s : ! i

) e -5 20 ,ﬂﬂfﬁviv_if_'bmﬁf;_(" "4 ._ifO.LWfL(l Jg
-0.5 -0.25 }

. a- 08 BU 5 B BN R R R android:layout height=" [~/ e EE -






